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INSTRUCTIONS TO CANDIDATES e A

Your showuld have the following for this examination:
Answer booklet;
Prrawing (nsfrimeity;
Non-programmable scientific calculator,
Thix paper consists of THREE sections; A, B and C.
Answer a total of FIVE guestions, taking at least ONE question from each section.
All questions carry egual marks,
Maximum marks for each part of a question are indicased.
Candidates should answer the guestions in English.

This paper consisis of 3 prinied pages.

Candidates should check the question paper to ascertain that
all the pages are printed as indicated and that no guestions are missing.
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SECTION A

Amvwer at feast ONE question from this section.

Describe any five shapes of workshop files, giving one application for each. =
(15 marks}

State any five maintenance requirements for workshop files. (5 marks)

With the aid of a labelled diagram, mq:l.nin the working principle of electnc are
welding. {12 marks)

Explain the effects of each of the following on the quality of weld produced by a
manual electric are welding process:

RS

{i) electrode selection; B SRS

(i)  variationin welding current; _— ”"‘J ‘14' gt i‘l
(fii}  arclenpth; o i ,.1[: B L:_:E:de_’_
(iv)  welding speed, (| ' AN Eﬂ '| -: | [" (8 tirks) [_’:__,J

SECTION E s .:’ = G C:M m"
e

Answer at least ONE question from this section.

State any three functions of & differential unitin a IMCIOE pOWer ransmission
system. {3 marks)

With the aid of a labelled sketch, explain the operation of a tractor differential unit.
{17 marks) =

& futk
A tractor engine piston has a crown diameter of 14 cm and a stroke of 13 cm. 7
Calculate the swept volume of the piston and the capacity of the engine if it has four

eylinders. = e (6 marks) i
¥l 5% thee AL
With the aid of labelled sketches, explain (he principle of opemtion of a two siroke T
cycle spark ignition engine. (14 marks) | .
Give any four operational functions of a three point hitch linkage of a farm
tractor. {4 marks) q} B
With the aid of dmgmms describe any four fypes of trctor PTO drive armngements, uf
giving one gpptication for each. I"l"'! = g { 16 marks) a
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SECTION C

Answer ar least ONE guestion from this section.

List any four applications of a chisel plough in agriculture. (4 marks)

Drvaw a labelled diagram of a ractor mounied cne bottomed mould board plough.
(8 murks)

Explain how each of the following tractor mounted mould board plongh adjustmenis
are effectad:

(i) ploughing depth; e
{ii) front furrow width; _
(it}  front furrow depth; ==

(iv)  pitch of plough, ‘ *“#2:” :'|1¢

—

(8 marks)
Outline any four operational I'E-q_lu'I.'E-IIIEFI.E -iafwgiﬂgigﬁﬁut;: . {1 miarks)
With the aid of a labelled sketch, explain the operation of a reciprocating plate fertilizer
distributor. - { 12 marks)
Cutline any four safety requirements for PTO drives. : 4 miarks)

With the aid of a labelled sketch, explain the operation of a cup feed seed dispensing
mechanism of a planter. {12 marks)

State two advantages and two disadvantuges of a cup feed planter seed dispensing
mechanism. {4 marks)

A seed plate and the ground wheel of a planter have a seed plate o ground wheel speed
ratio of 1:3. Determine the seed to seed spacing within the row, if the effective ground
wheel diameter is 54,46 em and the seed plate has 20 cells at its periphery.
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